Dane aktualne na dzien: 25-08-2025 00:40

Link do produktu: https://cardsplitter.pl/antena-satelitarna-sky-70cm-zone-2-grafit-72x56-p-1842.html

Antena satelitarna SKY
70cm zone 2 Grafit
(72x56)

Cena 89,99 zt
Dostepnosé Na zamoéwienie
Czas wysytki 24 godziny
Numer katalogowy SKY

Producent Kemot

Opis produktu
Antena satelitarna SKY 70cm zone 2 Grafit (72x56)

Azurowa antena satelitarna - idealna w bardziej wietrzne regiony.
Dziurki w antenie powoduja, ze powierzchnia podlegajaca
naporowi wiatru jest mniejsza niz w antenie petne;j.

Solidnie wykonana angielska antena satelitarna,
posiadajaca oryginalny i estetyczny wyglad.
Antena nadaje sie do odbioru kazdej telewizji satelitarnej
( Telewizja N, Polsat, Cyfra +, N na karte, NC+ ),
gwarantuje stabilny obraz bez wzgledu na warunki pogodowe.

Instrukcja montazu anteny

wygenerowano w programie shopGold


https://cardsplitter.pl/antena-satelitarna-sky-70cm-zone-2-grafit-72x56-p-1842.html
http://cardsplitter.pl/images/Instrukcja_antena_SKY.jpg

Uchwyt mocowania konwertera w zestawie.

Specyfikacja:

Malowane proszkowo - stal ocynkowana perforowana
Kolor: antracyt

Regulacja azymutu / wysokosci i LNB

Wspdtpracuje idealnie z konwerterami firmy Zinwell

wygenerowano w programie shopGold



» Zakres czestotliwosci pracy: 10.7GHz - 12.75GHz
« Zysk na 10.70GHz: ~ 35dBi

« Zysk na 12.75GHz: ~ 37dBi

» Kat przesuniecia: 23,9 stopni

« Zakres regulacji: 10-70 stopni

wygenerowano w programie shopGold



284
rY Y

wygenerowano w programie shopGold



Parts List
ftem | Description Qty 1

1

1

1

1

1

1

1

Antenna
Antenna Bracket
Elevation Bracket
Feed Leg

L Tube

Wall Mount

.| Fixing Kit

Mot supplied in dish package: -
LNE, feed clamp and mounting butfon.

] o ol Bt B i e

Fixing Kit
ftem | Description Qty
10. | ME semated flange nuls 17

11. | MEx12 painted Posi Pan 4
12. | MBx16 cup squares 4
1
4

13. MEx40 Posi Pan Screw
14. ME U Bolt (43mm ctrs)

i | PO

Assembly Instructions

b FAP ; 1. Fix Antenna Bracket (2) to Antenna (1) using 4 off
W/ e M6x12 painted posi pan screws (11) & M6 nuts
2 e ¢ (10). Leave bottom 2 nuts loose until Feed Leg (4)
is secure.

b ;

2. Insert Feed Leg (4) into Antenna Bracket (2) ( § | 3'; @:}4@;
through hole in the dish face and secure in place gt ———F
using an MEx40 posi pan screw (13) & an M8 nut ' g .

{10). Note; tighten bottom 2 nuts on the Antenna. = ,.:: =

wygenerowano w programie shopGold



3. Attach Elevation Bracket (3) to Antenna
Bracket (2) using 4 off M6x16 cup square
screws (12) & M6 nuts (10).

4, Check that the LNB skew setting is appropriate to the
area. To adjust where necessary loosen the clamp screw
and reset to the correct position before retightening. Angle
the front edge of the LNB Clamp so it locates under the
return on top of the Feed Leg. Whilst supporting the Feed
Leg rotate the Clamp down over the leg ensuring that the
location lugs on the Clamp lock securely into place in the
cut outs on the bottom of the Feed Leg. Remove the
mounting button from the Feed Clamp and push this
through the hole on the top surface of the Clamp through
into the Feed Leg, ensuring that the button sits firmly on
top of the Feed Clamp.

5. Insert L Tube (5) into Wall Mount
Bracket (6) & secure using 2 off M6 U
Bolts (14) & 4 off M6 nuts (10). If the
horizontal angle of the antenna from the
wall is between +/- 55° then the short end
of the L Tube should be fixed to the wall
mount, if the angle is to increase above
557 (+/-90°) then the long end should be
fixed to the wall mount.

6. After the Wall mount has been fixed to
the wall, clamp the dish assembly to the
wall mount assembly using 2 off M6 U
Bolts (14) & 4 off M6 nuts (10).

Brak konwertera w zestawie.

Produkt posiada dodatkowe opcje:

Opakowanie anteny: 1

wygenerowano w programie shopGold


http://www.tcpdf.org

